11”88 (Kl 1n88)

) /\{1> Linearized knot diagam
1
7\(11\\ 6 1 8 9 2 3 11 4 5 1 8

3

\ 10—
s\ 9>) Solving Sequence
! 48 ——>9 —>5—>13>2—>11—>7—6— 10 —> C1,C5,C9
A knot diagranﬂ g G4 C3 2 €11 ¢t C6  Ci0

Ideals for irreducible component#ﬂ)f Xpar

I = (—68u® 4+ 123u” + - - + 3382b — 1078, 1249u'" — 46u” + - - + 6764a — 1934,
utt — ut® — 100 + 9u® + 370" — 31u® — 54u® + 48u* + 8ud — 4u — 4)
I =(b+1, 26> —au+4a —u+3, u? —2)

I ={(a, b—1, v* +v+1)

* 3 irreducible components of dim¢ = 0, with total 17 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I = (—68u'® + 123u” + -

6764a — 1934, u'! — w0 4 ... — 4u — 4)

-+ 3382b — 1078, 1249u'® — 46u° + - -

(i) Arc colorings

(+)

aq =
= (o)
o= ()
= (L)
—0.184654:1° + 0.00680071u:° + -
a1 =\ 0.0201064u° — 0.0363690u° + -
u
as u
0.102750:1° + 0.0604672u° + -
az = \ —0.191455u° — 0.00295683u° + -
—0.164548u1° — 0.0295683u° + -
0.0201064:° — 0.0363690u° + -
—0.178888u1% + 0.0368125u° + -
—0.175636u° + 0.00887049u:° + -
—0.18465411° + 0.00680071w:° + -
—0.181402u° — 0.0211413u° + -
7u2 +1
a0 = \ —ut + 202

—u?+1
a0 = \ —u? + 202

(ii) Obstruction class = —1

(iii) Cusp Shapes = 132240 —

60106 4+ 35628 3 729

1691 1691 1691

750 . 9
1601 % —
2+ 706u_

1691

1691

13061, 8 | 6124
601 U T

12564

— 0.694855u + 0.285925
-+ 0.324660u + 0.318746

-4 2.38705u — 0.0990538
—0.937020u — 0.689533

—0.370195u + 0.604672
-+ 0.324660u + 0.318746

—0.609107u + 0.384684
— 1.68894u — 0.931402

— 0.694855u + 0.285925
— 1.77469u — 1.03016

20067 ,,5

T4 gl — 1601 4 —

1691 %

-+



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs utt — 2010 4+ 7 — 1008 + 1707 — 19u® + 14u® — 18u* — 6u? — 6u — 1
C2 w1000 4+ 4240 — 1
€35 €45 zz ult — w0 — 10u° + 9u® + 37u” — 31uS — 54u° 4 48ut 4 8u® — 4u — 4
Co ut 20 o —90u — 13
c7,C11 w3 w7
c10 u +23u' + -+ 225u + 49




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, ¢ gt 10y 24y — 1
C2 Yyt =14y 4 432y — 1
03,04,68 yll _21y10++16y_16
Cg
Co y'' —38y'" + - + 4460y — 169
7,y e Yt —23y10 .. 4 225y — 49
c10 ytt — 630 + ... — 61879y — 2401




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.927671 + 0.1972011
= —0.182641 + 0.4613441
0.723376 — 0.5907001

—3.55618 4 2.694561

—12.98158 — 3.537971

0.927671 — 0.1972011
= —0.182641 — 0.4613441
0.723376 + 0.5907001

U
a
b=
U
a
b

—3.55618 — 2.694561

—12.98158 +- 3.537971

uw= 1.36751
a = —1.06580
b= —1.10452

—6.50002

—13.6590

u = —0.128515 4 0.4661741
a= 1.31999 + 0.784891
b= —0.333924 — 0.3614521

—0.58979 + 1.507601

—5.46704 — 3.066691

u = —0.128515 — 0.4661741
a= 1.31999 —0.784891
b= —0.333924 + 0.3614521

—0.58979 — 1.507601

—5.46704 + 3.066691

u = —0.464364
a= 0.318779
b= 0.568678

—0.828081

—11.8310

u = —1.75254 + 0.612611
a = —0.637478 — 0.4430471
b= —1.97688 — 0.713001

—12.58100 4 1.386511

—13.48038 — 0.698111

u = —1.75254 — 0.612611
a = —0.637478 4 0.4430471
b= —1.97688 4- 0.713001

—12.58100 — 1.386511

—13.48038 +4- 0.698111

2.03058 + 0.315961
a= 1.212210 — 0.3465941
2.21938 4+ 0.577151

13.7044 — 7.44481

—12.73851 4 2.775251

2.03058 — 0.315961
1.212210 + 0.3465941
b= 2.21938 —0.577151

13.7044 + 7.44481

—12.73851 — 2.775251




Solutions to I} V—1(vol ++/—=1CS) Cusp shape
u = —2.05754
= 1.32286 18.3080 —11.1750
b= 227195




I IY = (b+ 1, 2a®> —au+ 4a —u+ 3, u? — 2)

(i) Arc colorings

w= (1)

o ()

e ()

o= (2)

o= (1)

()

e (—au +i;12u+1)
on=(5)

o= ()

w= (%)

o= ()

(ii) Obstruction class =1

(iii) Cusp Shapes = 4au + 4u — 16



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, (u? —u+1)2
Ca2, Cs (u? —|—u+1)2
C3,C4,Cg (u2 72)2
cy
7 (u+1)*
€10, €11 (u—1)*




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C5 (y2+y+1)2
Co
C3,C4,Cg (y_2)4
Cy
C7,C10, C11 (y — 1)4




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 V—1(vol + /—1CS) Cusp shape

u= 141421
a = —0.646447 + 0.6123721 | —6.57974 — 2.029881 | —14.0000 + 3.46411
b = —1.00000
u= 1.41421
a = —0.646447 — 0.6123721 | —6.57974 + 2.029881 | —14.0000 — 3.46411
b = —1.00000

u = —1.41421

a = —1.35355+0.61237] | —6.57974 + 2.02988] | —14.0000 — 3.46411

b = —1.00000

u = —1.41421

a = —1.35355 —0.61237] | —6.57974 — 2.02988] | —14.0000 + 3.46411

b = —1.00000
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(i) Arc colorings

w- (o)

ag —
ag =
as =

a; =

(
(
(
(
w= (b
(
(
(
(
(

IIL. I = {a, b—1, v?* + v+ 1)

(ii) Obstruction class =1

(iii) Cusp Shapes = —4v — 14
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2 1
C1,C2, Cg u® +u—+
€3,C4,C8 u?
C9
] u? —u41
2
C7,C10 (u — 1)
2
C11 (u + 1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
61762365 y2+y+1
Ce
C3,C4,Cg y2
Cy
2
¢7, €10, C11 (y—1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I7

V=1(vol + y=1CS)

Cusp shape

v = —0.500000 + 0.8660251

a= 0 —1.64493 4- 2.029887 | —12.00000 — 3.464101
b= 1.00000
v = —0.500000 — 0.8660251

0 —1.64493 — 2.029881 | —12.00000 + 3.464101
b= 1.00000
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IV. u-Polynomials

Crossings u-Polynomials at each crossing

1 (u? —u+ 12w +u+1)
S(utt =20t T — 10u® + 170" — 19u° + 140° — 18u* — 6u® — 6u — 1)

€2 (W +u+ D)) + 106 + -+ 24u — 1)
C3,C4,C8 U2(U2 — 2)2
Co (utt = ut® — 100 + 9u® 4+ 37u" — 31u® — 54uS + 48u* + 8uP — 4u — 4)
s (u? —u+1)(u? +u+1)°

(=200 7w — 10u® + 170" — 1908 + 140° — 18ut — 6u® — 6u — 1)

Co (u? —u+ D)W +u+ 1) (ut + 20 4 - — 90u — 13)
cr (u—1D?)(u+D)* " +3u'0+ - —u—7)

c10 ((u—1)%) (ut +23u™® + - + 225u + 49)

c11 (u—DHu+1)* W + 30+ —u—7)
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing

€1, 65 (> +y+ D" +10y0 + - 424y — 1)

“ (2 +y+1)°) (" — 14y™ + - + 432y — 1)

C3,C4,Cg yz(y_2)4(y11_21y10+'+16y_16)
Co

o (2 +y+ D) (" =38y + - - + 4460y — 169)
cr, i ((y — 1)%)(y'" — 23910 + - - - + 225y — 49)

c1o ((y — D)8y — 63y'° + -+ — 61879y — 2401)
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